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Each question has five options/circles. First four options/circles A, B, C and D are related to appropriate answer and fifth option/circle ‘E’ is related to ‘Question
not attempted'.
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Toindicate the correct answer, the candidate has tofill in only one option/circle A, B, C or D with blue ball point pen for respective question number on the OMR
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If there is any sort of ambiguity/mistake either of printing or factual in nature in Hindi or English version of questions, then the English Version will be treated as
final.
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Use of Mobile Phone/Bluetooth Device or any other electronic gadget in the examination hall is strictly prohibited. If any such prohibited material is found with
any candidate, strict action will be taken against him/her as per rules.
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Warning : If a candidate is found copying or using unfair means or if any unauthorized material is found in his/her possession, F.|.R. will be lodged against him/her
in the Police Station and he/she would be liable to be prosecuted under State Public Examination (Measures for Preventions of Unfair Means in Recruitment) Act.
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frTeiEd orsg I T i &7 9 "afa 2

P GT I T Y BT AT TET HIAT ?
(A) F: forear (7o)

(B) T A

(©) forcett : et T st

(D) R : eMEH

(B) 31 aRd e

3 T AT H T UG AT BT :
ZYO, XWP, VUQ, ?

(A) STR (B) RTS
(C) TRS (D) TSR
(B) 3raRd e

AT HT ATIHR T, 2005 (RTI FTITIH)
UUE  GESIE WTIEIOT F BHABNST A
frafafaa & & 69 o7 Ft ST 39 1 T
FIAT 2 2

e fog T faweat # ¥ w9 IUgE IR 94|

(A) oRERTET (B) ggrem

(©) wiasar (D) @ Y Ty
(B) 3raRd e

AT IR # T 3 BT B @ T G Y

T foT T faweat # ¥ 99 IUGE I G|

(A) FAETEIC Bl T

(B) U §U WIS ¥ WA 19 dcal B
TN HIAT

(C) O 3T AU BT AN HIAT 3T T

T WIS BT TTeT hTer

(D) WM &t g=T=T
(B) 3raRd e

The following pairs of words are related in a
particular manner. Which pair does not follow
that pattern ?

(A) Dog: Puppy

(B) Cow : Bull

(C) Cat: Kitten

(D) Lion: Cub

(E) Question not attempted

Find the missing term in the given series :

ZYO, XWP, VUQ, ?
(A) STR (B) RTS
(©) TRS (D) TSR
(E) Question not attempted

The Right to Information Act, 2005 (RTI Act)
seeks to promote which of the following qualities
in the working of every public authority ?

Choose the most appropriate answer from the
options given below.

(A) Transparency (B) Efficiency

(C) Reputation (D) Punctuality
(E) Question not attempted

The function of the large intestine in the human
body is mainly to :

Choose the most appropriate answer from the
options given below.

(A) Digest the carbohydrates

(B) Absorb all nutrients from the digested food

(C) Absorb water and salts and excrete the
undigested food

(D) Digest the proteins

(E) Question not attempted
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frfaRaa amelaat & ¥ ST I SHlT abt
GRS

RSN P

(a) (b) (©) (d)
(A) (b (B) (d)
© (@ D)
(B) 3TaRa ueA
qHT T Bt A & T =fafea & 9 e
IUBIOT BT ITGNT FFAT ST 2
T fau Ty foswent # ¥ HEW SUgE 3% I |
(A)  TErHTY
(B) E=TTH
(C) TfrpaH 3 gATH THATHIET
(D) SRR
(B) 3TIaRa ueA

If¢ PAPER & 16-0-16-0-18 & &9 # FHfea
(Fited) fFom Tom %, @ M PENCIL HT A
FHited HAT 2

(A) 16-0-143-0-12  (B) 16-0-14-0-0-3

(C) 16-5-143-9-12 (D) 16-5-9-12-0-3

(B) 3raRd e

FMRIT oI 2024-25 % AR, 25 AT JTHIOT
TRaRt & U S@ S e doea @

ITTATT & T 2
(A) 15 TR HUS (B) 20 &N HIS
(C) 25 TR HS (D) 10 BIR FHUZ

(B) 3raRd e

Amongst the following figures, which one is
different from the rest ?

RSN P

(@) (b) (©) (d)
(A) (b) (B) (d)
© @ D) (©

(E) Question not attempted

Which of the following instrument is used to
measure Earthquake waves ?

Choose the most appropriate answer from the
options given below.

(A) Rain gauge

(B) Seismograph

(C©) Max and Min Thermometer
(D) Barometer

(E) Question not attempted

If PAPER is coded as 16-0-16-0-18, how will you
code PENCIL ?

(A) 16-0-14-3-0-12 (B) 16-0-14-0-0-3

(C) 16-5-14-3-9-12 (D) 16-5-9-12-0-3
(E) Question not attempted
According to modified budget 2024-25, what is

the estimated expenditure on Jal Jeevan Mission
drinking water for 25 lacs rural households ?

(A) 15 thousand crores (B) 20 thousand crores
(C) 25 thousand crores (D) 10 thousand crores

(E) Question not attempted

P.T.O.
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frteiEd 3T Iepe # SRTCT F&dT 947 8 2
77,49, 36, 18,

(A) 8 (B) 6
© 7 D) 9
(B) 3raRd e

T fST T wed H, T FUF F 918 I b 13
15T v Bl a0 & & ®9 Uy 9% Ay
287

-forar @t et afest #t Rrem @t qaEen
i et o e 9w st 9T = B

"
%%gg

T+ .

1. 2| 3es 3uld 2 % aew asieat #t qomt

# 31 Tt B 2l

. & Aa-foar &7 9=t oS @ farem &
AT | 3T TSt WX AUF IAT = FHIAT
EuEy

(A) FaA TP 1A &

(B) =T & 13T 7= B

(©) = 137 7 & 11 AT B
(D) FaA TF [ 79T &

(

E) 3ranRa ued

T HTd B #, BLACK &t 29 fere@m S |
3T B § WHITE HT FH @@ 10T 2

(A) 65 (B) 23

Q) 56 (D) 92

(B) 3raRd e

WA TG Fa STAATET AT o7 2
A) 26 TEET 1950

B) 26 99« 1949

o =

(
(
(C) 2 TSR 1948
(

D) 15 3@ 1947

(B) 3raRd e

10.

11.

12.

What is the next number in the following
sequence ?

77,49, 36, 18,
(A) 8 (B) 6
© 7 D) 9

(E) Question not attempted

The question given below consists of a statement
followed by two arguments I and II. Decide
which of the argument(s) is/are strong ?

STATEMENT :
Should parents spend more money on the

education of their sons than on the education of
their daughters ?

ARGUMENTS :
I.  Yes. The data shows that boys succeed more
than girls.

II.  Yes. Parents should spend more money on
their daughter’s marriage than on her
education.

A) Only argument 1II is strong.

B

~

Either I or II is strong,.

D) Only argument I is strong.

(

(

(C) Neither I nor Il is strong.
(

(E

~

Question not attempted

In a certain code, BLACK is written as 29. How is
WHITE written in that code ?

(A) 65
(C) 56

(B) 23

(D) 92

(E) Question not attempted

The Indian Constitution was adopted on :
A) 26 November 1950

B) 26 November 1949

~

(
(
(©) 2 October 1948
(D) 15 August 1947
(

E

~

Question not attempted
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T ST T 99T F TH FUT & oG ST ROME
131X 1€t g ¥l $UF BT TI A L, TT B
T I | ITOT/aRoTg e 5/7 2

P

M X H BUST BREET HI =T H ghg F
SIS, TE IS T AT HIAT STRT T B
RO

L X% ufq =i $ug #t 71 5 9g W@ R
. X% BT Hieam He 2

(A) Haer emom 11 f4ted B
(B) =&t 14 11 f+fea &l

(©) 13RI e 2
(
(

o

) e gror 1 2

E) 3raRa ued

frfaiaa & 9 feas o9 et o0 & TouaTe
UG A ZSH BT AT 22

(A)  Ferermr s

B) W&

C) FHTIldT

D) Irsgafe

E) 3 and wed

T 9T T geF H TFH FAA I TS AG qF
fpy (1317 1) f3T U ¥l FHa9 B TF AWC
T, T F 6 ITH A B Aq0 epd o F @

TE AHERT ¥ ATFEF T F TIg F T A0
FIATE ?

HUF : TG TTNEH 2|

5y

I AT A9 B

I ST & SV ofd 8, 3% T f§a &/ &
T 2|

(A) Hae fTsFY 11 3TERT FHaT

(B) ¥ & I3 = & I 3TTER0T X &

(C) 13T AT AT FId Z|

(D) ae Ty 1 31T HT 2|

(B) 3raRd e

(
(
(
(

13.

14.

15.

The question given below consists of a statement
followed by two assumptions I and IL
Considering the statement as true, decide which
of the assumption(s) is/are implicit ?
STATEMENT :

In spite of an increase in the number of textile
factories in a country X, it continues to import
fabric.

ASSUMPTIONS :

I.  The demand of fabric per capita in X is over
increasing.

II.  The textile factories of X are inefficient.

A) Only assumption II is implicit.
B) Either I or II is implicit.

o

(
(
(C) BothIand II are implicit.
(D) Only assumption I is implicit.
(E) Question not attempted

Who among the following has the power to
remove the governor of a state from office ?

(A) Legislative Assembly
(B) Chief Minister

(C) Speaker
(
(

)

) President
E) Question not attempted

In the question, given below is a statement
followed by two conclusions (I and II). Assume
the statement to be true, decide which of the
conclusions  logically follows from the
information given in the statement beyond a
reasonable doubt ?

STATEMENT : Death is inevitable.
CONCLUSIONS :
I. Man is mortal.

II.  Those who are born must die one day.

Z

Only conclusion II follows.

=

Neither I nor II follows.

Both I and II follow.

S

Only conclusion I follows

~_~ A~ o~ o~ o~
@)
~

o

Question not attempted

P.T.O.
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freaferiaa & 9 St 91 ST ¥t () &9
(A) FE : wAER
(B) IS A
©) AT [T
(D) Wb 3 (TIH)
(B) 3raRd e
I fobbe & e § 600 BFp NI aTel
ST % TEe FoaTSt B I £ 2
(A) Tt e (B) zfag AR
O TEeat®®d (D) I I
(B) 3raRd e
TF P (PIE) WS H, ‘ENGLISH’ &l
“VMTORHS’ fd&T Siar &1 3HT AT § “HINDI’
F FY fer=T ST 2
(A) SRMWR (B) SRMVR
(C) SROWR (D) SRNVR
(B) 3rgana e
22 ®IART 2025 a6 ISRAT & TRl Hi
27
(A) ot TA.Tw, et
(B) #ft TATH. e
(O off St sEETe
(D) it TS TS
(B) TARa weA
et ST &7 Jpfou® &9 ST fRAT TH Feror B
it #ear &, 39 @ed B
(A) wTe (B) srorvrdt
(©)  amdiIrEn! (D) Tete
(B) 3raRd e
3 TS YT W T WA x T BT :
59, 68, 77, 83, 89, 92, x
(A) 99 (B) 95
(C) 98 (D) 97
(B) 3raRd e
6

16.

17.

18.

19.

20.

21.

Which of the following pairs is the odd one out ?
(A) Chair : Furniture

(B) Rose : Flower

(C) Banana: Apple

(D) Frock : Dress

(E) Question not attempted

Who has become the first batsman in the world to
hit 600 sixes in the history of International
Cricket ?

(A) Rohit Sharma (B) David Warner

(C©) Quinton de Cock (D) Jos Buttler
(E) Question not attempted

In a code language, ‘ENGLISH" is written as
‘VMTORHS'. How will ‘HINDI’ be written in the
same language ?

(A) SRMWR (B) SRMVR
(C) SROWR (D) SRNVR
(E) Question not attempted

Who is the Advocate General of Rajasthan as on
22 Feb. 2025 ?

(A) Sh.M.S. Singhvi

(B) Sh. N.M. Lodha

(C) Sh.B.P. Agarwal

(D) Sh. Rajendra Prasad

(E) Question not attempted

The alternative form of a gene which controls any
one character is called :

(A) Dominance (B) Recessive

(©) Genetics (D) Allele
(E) Question not attempted

Find the missing number x in the given series :
59, 68, 77, 83, 89, 92, x

(A) 99 (B) 95

(C) 98 (D) 97

(E) Question not attempted
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St TS 3BT (X) BT FET T wierferar 9|

(A)

S 2
NS
(B) ITIaRa ueA

T IMEHT BI 3T AW HId §T YIS 7 Fa,
““gg T IET FHI IS BT gHeAT AIE BN TIA

3T IMEHT F TR aXE Hetud &9

(A) e (B) furem

© =g (D) =R TS
(B) 3IrIaRa ueA

fr=fafad 9 9 e “wrd dfaa™ &1 sHe”
AT ST & 9

(A) =f. T, fTTH

(B) STOTEX AT A&E

(©) =f. %A, wHaft
(D) HETeHT el
(B) 3raRd e

HET-IHANF FEAT § A IS JTA B
E11X, H7V, ?, N3R, Q2P

(A) K9S (B) I5T
(C) 19U

(B) 3raRd e

(D) K5T

22,

23.

24.

25.

Choose the correct mirror image of the given
figure (X).

Mirror

OO

)
R

(E) Question not attempted

Pointing to a man, Sooraj said, “He is the only
brother of the daughter of my grandmother.”
How is Sooraj related to the man ?

(A) Son (B) Father

(C) Brother (D) Cousin
(E) Question not attempted

Who among the following is recognised as the
“Father of the Indian Constitution” ?

(A) Dr. B.R. Ambedkar

(B) Jawahar Lal Nehru

(C©) Dr. K.M. Munshi

(D) Mahatma Gandhi

(E) Question not attempted

Find the missing term in the alpha-numeric
series :

E11X, H7V, 2, N3R, Q2P
(A) K9S (B) I5T
(C) 19U (D) K5T

(E) Question not attempted

P.T.O.
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frfefad § & ®9-8 ga Fad S9-

TRt STafeTsl &F & 2

e foT T fawent # ¥ 999 UG IAX 94|

(A) et I Afetat & fisctss, TS 3 At
PG, AT BT ML 3T HT RIS

(B) UMWII® ®ITd, PVC, 37 & foatss, 9o
I 3T BETT

(O) &= F THS, TAST, TIRTH B Frdet 3T
P AR

(D) ATRE® I FlcT, THT g WIS, T,

Sifae Uite, HEET 3T FEAS
(B) 3raRd e
YA 3R TR G T UG i 9T &
(A) Tm (B) e
(©) warg g (D) =%
(B) 31 aRd e

frtarad e § weT [g (2) % =" ) S
o H@HT AT 2

T fgu T faeet § 9 99w St
3,4,6,8,12,13,24,7,48, 26

(A) 20 (B) 36
© 19 (D) 35
(B) 3raRd e

1976 ¥ fra qenfwes wetua stfufag gro
WRA T &I Jedra=T § ‘i =eger’ s
STIST 19T AT ?

(A) 4ot (B) 44di

Q) 43 (D) 41t

(B) 3raRd e

WRd & dfqar qar | ATedT W
QTS 2|

(A) 7 (B) 10

© 15 (D) 5

(B) 3raRd e

I A B TEEH W G W ANE giaan
St Rerd B

(A) FEEr (B) =iaeT
Q) e (D) it
(B) 3raRd e

26.

27.

28.

29.

30.

31.

Which of the following is a list of only bio-
degradable wastes ?

Choose the most appropriate answer from the
options given below.

(A) Fruit and vegetable peels, leather and cotton
clothes, cattle dung and agricultural waste

(B) Aluminium foil, PVC, egg shells, dried
leaves and paper

(C) Glass pieces, leather, plastic bottles and
agricultural wastes

(D) Plastic bottles, cooked food, household
organic waste, paper and cardboard
(E) Question not attempted

The famous folk dance of the regions of
Bharatpur and Alwar is the :

(A) Ghoomar (B) Garba
(C) Bhawai Dance (D) Bam Dance
(E) Question not attempted

What number should replace the question mark
(?) in the following series ?

Choose from the options given below.
3,4,6,8,12,13,24,7, 48, 26

(A) 20 (B) 36
© 19 (D) 35
(E) Question not attempted

On which Constitutional Amendment Act of
1976, the term ‘secular’ was added to the
Preamble of the Indian Constitution ?

(A) 42nd (B) 44t
(C) 43+ (D) 41st
(E) Question not attempted

The Constituent Assembly of India included
women members.

(A) 7 (B) 10
(C) 15 (D) 5
(E) Question not attempted

Identify the river on which the famous Chuliya
Waterfall is located.

(A) Saraswati
(C) Betwa

(B) Chambal
(D) Luni
(E) Question not attempted
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TR [T @I ATcs d e 8 2
(A) FEAT BTA (B) S =
© & = (D) SrETETEr T
(E) STaRd wed
frferiaa e & w99 g (2) & W= W 3
AT FEAT HT TIT B
2,5,10,17,26, 2,50
(A) 38 (B) 39
(C) 40 (D) 37
(B) 3raRd weA
sﬂﬁﬁwﬁﬁﬁﬁwgz
(A) wwferat (Twere)
(B) Tractss (Teri)
(C) wThTTgs (FTAThe)
(D) UEUd® (BIgeiTlihe)
(B) 3raRd e
Tt =T § weT g (2) F W= 9T a0
3T ?
M14P, PM14, 4PM1, ?
(A) 14PM (B) 1MP4
(C) 14MP (D) 1PM4
(B) 3raRd weA
fafafad ® o ® 91 guu/ee @i wie,
HIMAT, TF TSl 3 AEAT B LSAZSH H
9T foRaT ST & 2
(A) 3rEad FUOr (B) HHe gUOT
©) It & (D) 34T YT
(B) STaRd wed
ARA BN 2090 GYEA FTWOET FOIFEENR,
TR # & $IF 1 ST 9 STHE=T &
AT F i T F 2
(A) TSI (B) Hew WT
(C) ufd=H T (D) IR w<eT
(B) 3raRd weA
9

33.

34.

35.

36.

37.

Lachhiram/Lacchiram is related to which folk
drama ?

(A) Kuchamani Khyal (B) Jaipuri Khyal
(C) Hela Khyal (D) Shekhawati Khyal
(E) Question not attempted

Select the number that can replace the question
mark (?) in the following series :

2,5,10,17,26, 2,50
(A) 38 (B) 39
(C) 40 (D) 37

(E) Question not attempted

The second trophic level in a lake is :
(A) Fishes

(B) Benthos

(C) Zooplankton
(D) Phytoplankton

(E) Question not attempted

What should come in place of question mark (?)
in the following series ?

M14P, PM14, 4PM1, ?

(A) 14PM (B) 1MP4
(C) 14MP (D) 1PM4
(E) Question not attempted

Which of the following mirror/lens is used in
solar furnaces, torches, search lights and
headlights of vehicles ?

(A) Concave Mirror  (B) Plane Mirror

(C) Convex Lens (D) Convex Mirror
(E) Question not attempted

According to 20th livestock census of India, which
of the following states is on the top of Livestock
Population ?

(A) Rajasthan
(C) West Bengal

(B) Madhya Pradesh
(D) Uttar Pradesh

(E) Question not attempted

P.T.O.
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For violation of the Constitution, the President
may be removed from the office by :

Choose the most appropriate answer from the
options given below.

(A) The Prime Minister

(B) The Electoral College consisting of members
of Parliament and the State Legislature

(C) Impeachment

(D) A no-confidence vote

(E) Question not attempted

Which city is the host of the 18th “‘Pravasi Bhartiya

Divas Convention-2025" ?

(A) Bhopal (B) Hyderabad

(C) Chennai (D) Bhubaneshwar

(E) Question not attempted

Which of the following statements is true about
the production of oilseeds and sugarcane in
Rajasthan for the year 2023-24, as compared to
the production of 2022-23 ?

Choose the most appropriate answer from the
options given below.

(A) Total oilseeds and sugarcane production
increased in 2023-24.

(B) Total oilseeds and sugarcane production
decreased in 2023-24.

(C) Total oilseeds production increased, while
sugarcane production decreased in 2023-24.

(D) Total oilseeds production decreased while
sugarcane production increased in 2023-24.
(E) Question not attempted

In 2023-24, Rajasthan was the leading producer of
one of the following types of oilseeds. Identify
from the following :

Choose the most appropriate answer from the
options given below.

(A) Mustard (B) Castor seed
(©) Soya Bean (D) Linseed
(E) Question not attempted

Which of the following is not a category for
classifying the elements ?

(A) Metalloids (B) Metallurgy
(C©) Metals (D) Non-metals
(E) Question not attempted
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43.

44.

45,

46.

Which of the following types of soil occupies the
largest area in Rajasthan ?

Choose the most appropriate answer from the
options given below.

(A) Black Soil
(C) Desert Soil

(B) Red Soil
(D) Alluvial Soil

(E) Question not attempted

Choose the correct water image of the given
figure (X).

Ped

*x)

(A)

Be(

Amongst the following figures, which one is
different from the rest ?

TlT TlTlTTiTiTJuu

b
B

(E) Question not attempted

(@) (b) ©)
(A) (a) B) ()
© © D) ®)
(E) Question not attempted

APIO (Assistant Public Information Officer) has
to forward application for information to :

Z

PIO (Public Information Officer)

=

First Appellate Authority
Second Appellate Authority
The head of the Authority

~ N o~ o~ —~
g 0
~ =

o

Question not attempted

P.T.O.
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47.

48.

49.

50.

51.

Ashmit introduced Riti as the wife of his
mother’s husband’s son Sumit to his wife Reema.
How is Ashmit related to Riti ?

(A) Uncle (B) Brother

(C) Brother-in-law (D) Cousin
(E) Question not attempted

Pooja is the daughter of Meera. Meera is Raju’s
only sister whose mother is Malti. Malti's
son-in-law is Rakesh. Rakesh is related to Pooja
as:

(A) Brother-in-law (B) Father

(©) Uncle (D) Brother
(E) Question not attempted

What is the value of question mark ?

D12 a L4

F10 J6

(B) H8
(D) H2
(E) Question not attempted

In the given question, three of the four given
options are alike in some manner and one is
different. Choose the odd one out.

(A) 91]
(C) 39L

(B) 371

(D) 65K

(E) Question not attempted

What is the Agricultural sector’s contribution to
Rajasthan’s income in FY 2023-24, according to

the latest Economic Review 2023-24 by the
Government of Rajasthan ?

Choose the most appropriate answer from the
options given below.

(A) 26.72%
(C) 21.35%

(B) 22.60%
(D) 30.85%
(E) Question not attempted
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52.

53.

54.

55.

56.

In a code language, ‘ROCKET’ is written as
‘CROTKE’. How will ‘SEARCH’ be written in
that language ?

(A) ASECHR (B) ASECRH
(C) ASEHRC (D) ASEHCR
(E) Question not attempted

The Constitution of India came into force on :
(A) 15 August 1947 (B) 26 January 1950
(C) 2 October 1948 (D) 26 November 1949
(E) Question not attempted

Which one of the following provisions of the RTI
Act elaborate on first appeals by requesters ?

(A) Section 7(5)
(C) Section 19(1)

(B) Section 20(1)

(D) Section 8(1)

(E) Question not attempted

Who founded the Jat principality of Bharatpur ?
(A) Surajmal (B) Churaman

(©) Rajaram (D) Badan Singh

(E) Question not attempted

The question given below consists of a statement
followed by two assumptions numbered I and IL
Considering the statement as true, decide which
of the following assumption(s) is/are implicit ?
STATEMENT :

Only good dancers were invited to a dance
festival. No one without a flexible body is a good

dancer.

ASSUMPTIONS :

I.  All invited dancers in the dance festival had
a flexible body.

II.  Dancers without flexible body were not
invited to the dance festival.

Z

Only assumption Il is implicit.

=

Either I or II is implicit.

Both I and II are implicit.

S

Only assumption I is implicit.

~_~ N N~ o~
@)
~

o

Question not attempted

P.T.O.
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59.

60.

The western boundary of Rajasthan with
Pakistan is known as

(A) Durand Line (B) Kalapani

(C) Radcliffe (D) McMahon Line

(E) Question not attempted

Tungsten is a mineral used for making the
filament of bulbs. A famous location of tungsten
ore in Rajasthan is :

Choose the most appropriate answer from the
options given below.

(A) Rajsamand - Bamania
(B) Bhilwara - Rewana

(C) Ajmer - Kayar

(D) Nagaur - Degana

(E) Question not attempted

Which of the following is not an objective of the
Rajasthan Institute of Transformation and
Innovation (RITI) ?

Choose the most appropriate answer from the
options given below.

(A) To estimate various types of resources
available in the state (physical, financial,
manpower).

(B) To prepare policy guidelines for making the

best use of state resources.

(C) To develop mechanisms to improve the
standard of living of common people.

(D) To provide training to students in the field
of IT.

(E) Question not attempted

Who can make advances out of the Contingency
Fund of the state to meet any unforeseen
expenditure ?

(A) Chief Minister (B) Home Minister

(©) Governor (D) Finance Minister

(E) Question not attempted
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62.

63.

64.

65.

Who founded the city of Jodhpur ?
(A) Rao Maldeo (B) Rao Chunda
(C) Rao Rawal (D) Rao Jodha
(E) Question not attempted

The idea of the Concurrent List has been taken
from the Constitution of

(A) Australia (B) Canada

(C) South Africa (D) Germany
(E) Question not attempted

According to census 2011, which district has the
highest population in Rajasthan ?

(A) Jalore (B) Jaisalmer

(©) Jodhpur (D) Jaipur
(E) Question not attempted

Which one from the four option figures will come
to the right of the problem figure to complete the
series logically ?

| Pk
A !+A?|:| a2

(Problem figure)

A1 A ® 1 A

(E) Question not attempted

What is the missing term in the following series ?
630, 666, 691, 707, ?, 720

(A) 712 (B) 708

(© 710 (D) 716

(E) Question not attempted

P.T.O.
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69.

Which state has made the announcement to
launch ‘Mukhyamantri Vishwakarma Pension
Scheme’ in November 2024 for laborers and street

vendors ?
(A) Gujarat (B) Maharashtra

(©) Rajasthan (D) Delhi
(E) Question not attempted
The two states to the North of Rajasthan are :

Choose the most appropriate answer from the
options given below.

A) Haryana and Uttar Pradesh

B) Punjab and Haryana

o

(

(

(C) Haryana and Gujarat

(D) Uttar Pradesh and Punjab
(

E) Question not attempted

In Rajasthan, the Border Area Development
Programme (BADP) is NOT being implemented
in:

Choose the most appropriate answer from the
options given below.

(A) Sriganganagar (B) Jaisalmer

(C) Barmer (D) Alwar

(E) Question not attempted

In the given question, two conclusions (I and II)
are followed by a statement. Assume the
information given in the statement to be true,
select a logically drawn conclusion beyond a
reasonable doubt.

STATEMENT :

Hard work is a key to success.

CONCLUSIONS :
L All successful people are hardworking.
II.  Smart work leads to failure.

A) Only conclusion II follows.
B) Neither I nor II follows.

(

(

(C) BothIand II follow.

(D) Only conclusion I follows.
(

E) Question not attempted
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Name the ruler of the Chauhan dynasty of
Shakambhari, who was given the title of
‘Kavibandhava’.

(A) Ajayraj (B) VigrahrajIV
(C) Prithviraj 111 (D) Arnoraj

(E) Question not attempted

What is RAC in Rajasthan Police ?

(A) Ramgarh Armed Constabulary

(B) Rajgarh Armed Constabulary

(C) Reserved Armed Constabulary

(D) Rajasthan Armed Constabulary

(E) Question not attempted

Which of the following is ejected mostly by

thermal power plants as by-product of coal
burning processes which results in air pollution ?

Choose the most appropriate answer from the
options given below.

(A) Tetraethyl Lead  (B) Dust

(C) Fly Ash (D) Oxides of iron
(E) Question not attempted

Select the one which is different from other three
alternatives :

(A) Trapezium (B) Pentagon
(©) Rectangle (D) Rhombus
(E) Question not attempted

The Phad artist Shrilal Joshi belongs to :
(A) Bikaner (B) Jodhpur
(C) Bhilwara (D) Churu

(E) Question not attempted

P.T.O.
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In which agroclimatic region of Rajasthan; Jaipur,
Dausa and Ajmer are included ?

Choose the most appropriate answer from the
options given below.

(A) Humid Southern Plain

(B) Sub-humid Southern Plain
(C) Semi-arid Eastern Plain
(D) Flood prone Eastern Plain
(E) Question not attempted

In the question, given below is a statement
followed by two conclusions (I and II). Assume
the statement to be true, decide which of them
logically follows beyond a reasonable doubt from
the information given in the statement ?

STATEMENT :

The covid pandemic created mayhem and
exposed the sad reality of existing medical
infrastructure worldwide.

CONCLUSIONS :

I.  Medical infrastructure was improved after
the pandemic worldwide.

II. Dealing with the pandemic required
sophisticated as well as sturdy medical
facilities.

(A) Only II follows.

(B) Neither I nor II follows.
(C) BothIand II follow.
(D) Only I follows.

(E) Question not attempted
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77.
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There is a definite relationship between figures
(@) and (b). Establish a similar relationship
between figures (c) and (d) by selecting a suitable
figure from the following options that replaces
the question mark (?) in figure (d).

e

G

K (D) v

(E) Question not attempted

Which of the following figures when placed in
the blank space of fig. (X) would complete the
pattern ?

==
] B

=

0

(E) Question not attempted

P.T.O.
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[I. ¥hR Pl HH IG S THIAT J@RA B
anfére weg T =izl

(A) el 11 STTHRT FaT B |
(B) < & I3 = & I 3TTEROT T B

(©) 13iT mEHT srgEer Hd Bl

(D) Il 131TAIOT FHaT 2l

(B) 3rgaRd e

T SMUeT gdua uTiesIr (87 €7 TH U) &7
A P BT 22

(A) g o TRt
(B) IS % W& Wwhaa
© wTaTu

(D) TSAT TRt

(B) 3raRd e
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79.

80.

In the question below, there is a statement
followed by two courses of action (I and II).
Consider the statement to be a fact, decide which
of the suggested courses of action logically follow
it?

STATEMENT :

In a state, it has been observed that there is an
increasing rate of female mortality during child
birth because of early marriages.

COURSES OF ACTION :

I.  Doctors or midwives should refrain from
conducting child deliveries of the underage
females.

II. The government should provide monetary
help to the underage expecting mothers.

(A) Only II follows.

(B) Neither I nor II follows.

(C) BothIand II follow.

(D) Only I follows.

(E) Question not attempted

The District Disaster Management Authority
(DDMA) is headed by :

(A) Block Development Officer

(B) Chief Secretary of State

(©) MLA

(D) District Magistrate

(E) Question not attempted
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(A) Faa gron 11 fafed 2
(B) =t 130T 7 & 11 e &
© 13R naEt At E

(D) ae oo | At |

(B) 3rgaia ued

I ST ST 2, qT AR F TS B BT ATH FT
ZRIT 2

(A) fereit (B)

THAT
FHA

(B) 3raRd e

TAT-3HT TR b1 6w Fasrepar et ¥ Hafug
g9

(A) ARETS (B)
©) HR
(B) 3raRd e

TRt TE

(D) IeT
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81.

82.

83.

In the question given below, a statement is
and 1L
Considering the statement as true, decide which

followed by two assumptions I

of the assumption(s) is/are implicit ?
STATEMENT :

The police administration blocked ventricular
movements around the rally ground where a
public meeting is to be held by a leader due to
the large inflow of supporters.

ASSUMPTIONS :

L The leader is very popular among the
public.

IL The leader will win the upcoming election.

(A) Only assumption Il is implicit.

(B) Neither I nor Il is implicit.

(C) BothIand II are implicit.

(D) Only assumption I is implicit.

(E) Question not attempted

If ‘Rose’ is known as ‘Sunflower’, ‘Sunflower’ is
known as ‘Lotus’, ‘Lotus’ is known as ‘Jasmine’

and ‘Jasmine’ is known as ‘Lily’, then what
would be the name of Indian National Flower ?

(A) Lily (B) Jasmine

(©) Sunflower (D) Lotus
(E) Question not attempted

Bani-Thani is associated with which school of
painting of Rajasthan ?

(A) Marwar (B) Kishangarh

(C) Bikaner (D) Kota
(E) Question not attempted

P.T.O.
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84. I I=U T &I G T E| |84. The High Court of Rajasthan has its bench at
(A) TaisTe (B) SHTHY (A) Chittorgarh (B) Jaisalmer
©) SEgR (D) FIATTQ (©) Jaipur (D) Hanumangarh
(E) al'v‘i'ﬁﬁ_c[ PR (E) Question not attempted
85. I 3T STIEE%'CI* I B G 34'@&[ qite®s =97 | 85. Which one from the four answer figures will
ST : come to the right of the problem figure to
jjﬁ; 3 Trqrﬁafr B T P T AT A F T complete the series logically ?
OAJAO 0 AOAO
A O X A O X
O oAl xO X 10 oAl xO X 1
@ [AO x ® [AO X ® [A0 X ® [AO X
0 - O 0 - O
1 % 1 X
© [AO X ® XOA © [AO X © X OA
T 0 T 0
* * * *
(E) Wﬁ?{ 994 (E) Question not attempted
86. o=t wed ®, U HUA F g [ 3T 11/86.

FHHPA BUATE & ailh [&U 70 E| HI9 &
T AT §U, T B (6 B QA FUAE B
AF ATMHS T A AT HAM 92

P

T U H oIl B b ATHA T g ORI H
ot ¥ gl ® % Sew Amiet w osnfis
THA & T2 B

HATE F TS :

[ ST S e B e § Edidried e
ST =fEu|

II. ¥aT geTast &0 dfei Bid & ol o
Picd Bl Talgd B & [T HgT ST =T

(A) HIA 11 TTHIT FHIaT gl

(B) T &Y 1T 11 3TIERT T 2

(C) 7 T 130T T & 11 3TTEI HIAT 2|
(D) Ha 13(TAIOT FHeaT 2l

(B) 3raRd e
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In the following question, there is a statement
followed by courses of action numbered I and II.
Assuming the statement as true, decide which
course(s) of action would logically follow ?

STATEMENT :

There has been a rapid rise in cybercrime
through fake calls all over the country causing
monetary losses to citizens.

COURSES OF ACTION :

I.  People should be discouraged from buying
smart phones.

II.  The service providers should be asked to
flag the calls from dubious callers.

A) Only II follows.

B) Either I or II follow.

(
(
(C) Neither I nor II follows.
(D) Only I follows.

(

E) Question not attempted
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50 Tereft/eieT % @A & S|

[I. HSH T TS HAL T 3 ool B
qTeAT 9T TR FTATT T

A) I 11T HIEAT B
B) T & I3 T & 11 3THI0T HIT &

C) I3 ISHAT FTEOT FIA &

D) had [ 3TEI0T HIAT &l

(B) 3raRd e
Wifd aRads & TN # frafatad § ¥ 9 9
FUT e T2

(A) 32 AT ¥ IAST Tl 6AT ST THhdT &

(B)  wifqiep T[UT S SMHIA, AT / IMHR, [T
JTUAT TIXAT & TZeAd |

(©)  uw o1 UP ¥ 31faE TGSy T 2

(D) UgTd H TEEEE TEAT NI TEdT
2l

(B) 3raRd e
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87.

88.

89.

When non-metals react with oxygen,
is/are NOT formed.

(A) Metal oxides (B) Non-metal oxides

(C) Carbon dioxide (D) Water

(E) Question not attempted

Assuming everything in the statement given
below to be true, decide which of the following
courses of action logically follow(s) ?

STATEMENT :

A strong correlation has been found between the
road accidents and over-speeding by the vehicles
causing large number of casualties.

COURSES OF ACTION :

. The should direct the
automobile companies to install a device in

government

the vehicles to automatically limit the speed
at 50 km/h.

II.  Installation of speed cameras on the roads
and imposition of heavy challans on
offenders.

A) Only II follows.

B) Neither I nor II follows.

(
(
(C) BothIand II follow.
(D) Only I follows.

(

E) Question not attempted

Which of the following statements is correct
about a physical change ?

(A) They cannot be reversed easily.

(B) The physical properties like shape, size,
colour or state are not changed.

(C) One or more new substances are formed.

(D) The chemical composition of substance
remains unchanged.

(E) Question not attempted

P.T.O.
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RTI 3TT9H FT &RT 19 FT ITLRT (3) F d&d
O 3T TR B FH qAT TAT

(A) FAAS o &5t witq & 90 fa=
(B) FAA Tootar &t wifta & 40 fo=
(© FAASF forr 5t wifed & 30 fa=
(D) FAA forr 5t wifed & 10 fa=
(B) 3TARa ueA

T 997 H T PYUF 3 3T I a6 [T
e s | fofor #ifse 6 9 & 9 =9
qT/F % A /2 2

P

F1 watae e $t B A arfad 9 9T

o . o
A T ST M8y ?

TS

I 2 ¥ S=d % W W glagd qwd
AT 2|

[ &t I8 Sl & J9 $T & % I arrad
U TRIEAT & AT & |

(A) FIA TH 1A 2
(B) T af 19T 11 #Tgd &
(© 13 NFH! A5G 2l
(D) aa T 79 2l

(B) 3TIaRa ued
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90.

91.

Time limit for filing second appeal under
Sub-section (3) of Section 19 of the RTI Act is :

(A) 90 days from the receipt of FAA’s decision

(B) 40 days from the receipt of FAA’s decision

(C) 30 days from the receipt of FAA’s decision

(D) 10 days from the receipt of FAA’s decision

(E) Question not attempted

The question given below consists of a statement
followed by two arguments I and II. Decide

which of the argument(s) is/are strong ?

STATEMENT :

Should aerated drinks be banned in primary

school canteens ?

ARGUMENTS :

L Yes. It adversely affects the health of kids.

II. No. It's for the students to decide whether
to buy the aerated drinks or not.

(A) Only argument Il is strong

(B) Either I or Il is strong

(C) BothIand II are strong

(D) Only argument I is strong

(E) Question not attempted
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MBI (a) 3 (b) F T T Hiv=d Faer 2| 5w
U febedl W TH ITYH P BT AAT Fb
MBI () 3T (d) F o T FATT FA«ey Woa
HYL ST IMHIT (d) H 997 Fag (?) &1 ufereniug
HIAT Bl

(@) (b) (©) (d)

(A) Q (B) b
© (D)
O @
(B) 3rgana ued
TSR % [P glaEmeR Td qudadar |
g I e fawm &9
(A) TS
(B) ST WA I
(C) TTHT ERTET 3N
(D) arsit =Y ¥
(B) 3rgaia ued
A S TS AT AT H _A FAT AT AR 2
ZP,YO, XN, WM, ___
(A) VP (B) ZP
(© VL (D) ZL
(B) 3rIana e

25

92.

93.

94.

There is a definite relationship between figures
(@) and (b). Establish a similar relationship
between (c) and (d) by selecting a suitable figure
from the given options that replaces the question

mark (?) in fig. (d).
AT 2

(@) (b) (©) (d)

&)
O (D)

(E) Question not attempted

Which historian and archaeologist of Rajasthan
wrote the famous text ‘Lipimala’ ?

(A) Dayaldas

(B) Kaviraj Shyamal Das

(©) Gaurishankar Heerachand Ojha
(D) Baviji Chatur Singh

(E) Question not attempted

What should come next in the letter series given
below ?

ZP, YO, XN, WM,
(A) VP (B) ZP
(C) VL (D) ZL

(E) Question not attempted

P.T.O.
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ST T TSR % SIS H TH Bl BISH T JTAT |95.
oy 2| i (=) 71 =ee S|
(A) IS : IR (B) < : WA
(C) =T =St (D) TS : AHSS
(B) I ANa ued
18 3T 2024 BT “TI9T eReT Tgadq’ & @ I | 96.
TR T W W feEer e @6
ITEYOT R T 9
(A) T FIALTHT (B) =g Hial
(C) fere wreat (D) W dgABT
() SrIand ued
Wi IS IRIST F dgd e H (97
i § o T T TRl &1 SR J
ST T 6 o | UREldd 6T T & 2
frfeiaa fasedt # & Fee Iuga ST I+ |
(A) ITET TSTHRT TEAT 14
(B) TSI TSTHRT WEAT 8
(C) T TSTHANT HE=AT 3
(D) ITSET TSTHRT F&AT 11
() 3rgaid ued
“TI9T quTaRoT fgaq” S AT STAT & 2 98.
(A) 53 (B) 63
Q) 14 3rrd (D) 15 3nTEd
() 3rgand ued
freforfaa & & #1909 st amsta (X)  fgw|99.
T Y ¥ fafea B0
(X)
(A) \/\/ (B) j
© ‘_/—' (D) Z
(B) 3TIaRa ued
26

The given pair of words share a common
relationship except one. Choose the odd one out.

(A) Wine : Grapes (B) Belt : Leather

(©) Gold : Silver (D) Paper: Wood

(E) Question not attempted

Whose statue was unveiled in ‘Jaipur Wax
Museum’ on the occasion of ‘World Heritage
Day’ on 18t April 2024 ?

(A) Lata Mangeshkar (B) Narendra Modi
(C) Virat Kohli (D) Sachin Tendulkar
(E) Question not attempted

Which of the following National Highways in
Rajasthan has been converted into 6 lane from
Jaipur to Ajmer under Golden Quadrilateral
Project ?

Choose the most appropriate answer from the
following options.

(A) National Highway number 14

B)

C) National Highway number 3
D)

E) Question not attempted

National Highway number 8

(
(
(D) National Highway number 11

(

When is “World Environment Day” celebrated ?
(A) 5t June (B) 6th June

(C) 14t August (D) 15t August

(E) Question not attempted

Which of the following figure is embedded in the
pattern given in fig. (X) ?

X)

Yot 7]
Ve

(E) Question not attempted
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The question given below consists of a statement
followed by two arguments I and II. Decide
which of the argument(s) is/are strong ?

STATEMENT :

Should there be only two political parties in a
country like India ?

ARGUMENTS :

L Yes. It will make the election process
easier.

II.  No. In a country like India where there are
several regional aspirations, regional parties
are also required.

(A) Only argument 1II is strong.
(B) Neither I nor I is strong.
(C) BothIand II are strong.
(D) Only argument I is strong.

(E) Question not attempted

P.T.O.
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1.

U9 U B & BT Y TS, PHUAT ST W9 IReanT 37T o7 TH. .

IA-TAE ! ST B ST gifvaa wi T

— W97 YRAHT 7T 7. Q.. IT—T5E I hH G&d1 THM 2 |

— 97 gRae % et I8s Al @ g ¢ ofit avil et W wn e
e lERS

forit ot fergirier/r o wmt &, avvarelt a1 wew gRaeT oTiX ol T 3T,

IT—T5% B I3 & f0Q L AN BT AT bl FAT A

Y | T IO B % Ui e a1e 39 dae H foRdl ot /et

o feram =12t fepa s | e ferg srsel Soerd B

Before attempting the question paper, kindly check your

Question Booklet(QB) and O.M.R. Answer Sheet and ensure

that:

- Serial number of Question Booklet(QB) and OMR Answer
Sheet is same.

- All pages and all questions are properly printed

In case of any discrepancy/defect, the candidate should

immediately report the matter to the Invigilator for replacement

of Question Booklet(QB) and OMR Answer Sheet. No claim/

objection in this regard will be entertained after five minutes of

start of examination, candidate will be liable for the same.

STHA ST % 11 fag 7g &+ Faer we |

Read all instructions on the reverse of OMR Answer Sheet.

STHS IAL—TI X Had Al a1 Q13 U BT TAT HY | BT,

HITHSTT IR | AT U X BT 3T bl qel & §

7|

On OMR Answer Sheet, use blue ball point pen only. Please,

fill your Roll No. and other information correctly in OMR

Answer Sheet.

e fordt weT & foig & & arfires Iav sifhd foRd s € o o8 o

AL AT AR

If more than one response is marked for a question, it would be

treated as wrong answer.

T T X Bl U9 S W 1/4 91T Hrel TR | Tad Sl §

AT S5 T AT Fopell U9 o Wb U aiferss Sk 9 &1

1/4 part of the mark(s) of each question will be deducted for

each wrong answer. (A wrong answer means an incorrect answer
or more than one answers for any question).

YA U9 ¥ U faseu/mMia €1 ved an faseu/i| (A), (B), (C)
3R (D) 3Iuge sTX ¥ Hafud ¥ oy ufaar fasweu/mem “(E)
‘TR ue & HeEfid ¥

Each question has five options/circles. First four options/circles
(A), (B), (C) and (D) are related to appropriate answer and
fifth option/circle “(E)’ is related to ‘Question not attempted’.
TE I 9 & g orwredt Y ofl. uH.eTY. SAR-ue WX Hefa
9 HEAT % UEd O faeed (A), (B), (C) a1 (D) ¥ § thad Th
Tarenea /M @l i T @MEe U9 § 9T R At ot fopely we

10.

11.

12.

T ST B! ST ATea & <l 9rad febed/TMet “(E)’ @l T8 T &N |
To indicate the correct answer, the candidate has to fill in only
one option/circle (A), (B), (C) or (D) with blue ball point pen
for respective question number on the OMR Answer Sheet. If
the candidate does not want to answer any question then the
fifth option/circle ‘(E)’ should be darkened.

Ifs uiw faee & | P15 o foreed/Miar T T2t fepan = af 99w &1
1/34T 3ieh e ferdm SR |

1/3 part of the marks will be deducted for the questions, if none
of the option/circle are darkened.

10 wiceta & aferes get o forely off fershea/mMiet @1 arsrelt amn e
TN feam T A I8 e % oy sty =it Y fear s

If a candidate leaves more than 10 percent questions or does
not darken any of the five options, he/she will be disqualified
for the exam.

STeefl BT Ydieh WS % o7 6 § o Ueb ferdhed/ATIeT HRT & AT 7Tl a8
ghtfyad &0 & fag 10 fire sifafe fag sma

Candidate will be given 10 minutes extra to make sure, if he/
she has filled up any one option/circle for each questions.

e T o Te=at a1 ST G601 H FR0T AT TLATHD THidl i [hal |
BT I SIS/ &, Al SISl TEh o1 ol ST 7FT Smem)

If there is any sort of ambiguity / mistake either of printing or
factual in nature in Hindi or English version of questions, then
the English Version will be treated as final.

e g ¥ HieTde /sy farza a1 fedt e geeite fete
T ITANT W afta 5| afe frdt ot & are O e wfoefia
[T OIS T 1 56 (es FRMITER ged St Sl S

Use of Mobile Phone / Bluetooth Device or any other electronic
gadget in the examination hall is strictly prohibited. If any such
prohibited material is found with any candidate, strict action
will be taken against him/her as per rules.
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T AT ST & OT SHeh 9T hig ST Gl U1 S € o 39 Rawms
Ui RIM H TSNS, ol bl T ST I8 o eIt T
sfufrm, 2022 o deltaw stfafwem 2023, (Wit # srgfaa ares &l
AT % SEGUR) & Tl JebaHT T % forq ITeart 2 fora 10 o
T aTmsiie HrEE 91 3 1 HUS T & TELM &1 3 1S & A @l
U el § T w9 Y faatsta A fear St wehdn 51

Warning : If a candidate is found copying or using unfair means or
if any unauthorized material is found in his/her possession, F.I.LR
will be lodged against him/her in the Police Station and he/she would
be liable to be prosecuted under State Public Examination (Measures
for Preventions of Unfair Means in Recruitment) Act. 2022 and
Amendment Act 2023. The act has provisions of imprisonment of 10
years to life and fine up to ¥ 1 crore. Board may also debar him/her
permanently from all future examinations conducted by the Board.
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Taft 3 i & e, gt § qrert A 1 92§, q 3

Navneet told Preet, ‘Though I am the daughter of your
mother, you are not my sister.” How is Preet related to
Navneet?

(A) Sister (B) Brother

& B’ S 1 AT o R G 22 -
(A) s=&A (B)

(C) == (D) s

(E) ergaid g

2 Feian & i w s e Feer st =01 g e 2
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i C\O o—1

@ | A ® | §
© | & © | W
(E) i o

3 39 TR AT T HL S A & TS GHA HE S @

/\

O

(] ?

w O ® | [~
© O (D) O
E) 3Taia gy

et 3 8 o el ST €1 TS s 1 ) Ty

J°

+ !

o

l_“f.

(A)

©

a
o

®)

(D)

¢!

)

(C) Cousin

(D) Nephew

(E) Question not attempted
Which of the following figures will complete the given

figure matrix?

—

e

T

f12 o
[ Mo
@ | A
© | &

(B)

(D)

(E) Question not attempted
Select the figure which would continue the same series as

RY
AN

AILO[O] 2
w O ® | [~
© | o | ()

(E) Question not attempted
Which of the following figures continue the given series?

+ !

g

o

p.f‘

(A)

r
o

©

(B)

(D)

¢!

v

(E) ergaid o

Frfaad foeredt # & 38 STH(d &1 == L S &1 TS 2faar
I g HA:

(E) Question not attempted
Select the figure from the following options which will

/A

B>

[¢]

?

/>

N

\/

S

q c
(A) @ (B) @
C 9)
©) @ D) b
(E) ergaid g
AASL] #

complete the given series:

AN

Q
[¢] b ?

JA

N

\/

(A)

©

<

C

®)

D)

(E)  Question not attempted
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foretforfare @ =1 ot s1mehfa €1 718 smreRTar siwren bl QU ko

AlO A
s | ?
O O
O
(A) (B) A
A ]
A O
© || (D)
A
(E) ergaid o
fafafed & @ % o smefa famm 22
— - Z N X
(a) (b) (c) (d) (e)
(A) b (B) d
) e (D) ¢
(E) g o
Torem =1 == Fifsg
.
(a) (b) (c) (d)
(A) a (B) b
€ ¢ (D) d
(BE) ST a4
e € 7€ e (X) i EE der (M M°) B o = i
M
>
(X) M’

A) >/ (B)
©) \<' (D)

(E) ergaid g

X
A

AASL] #

Which of the following figures will complete the given

figure series?

AlO A
s | ?
O O
O
A
(A) A (B) O
A [m]
© [ (D)
A

(E) Question not attempted

Which of the following figure is the odd one out?

— - 21N I x
(a) (b) (c) (d) (e)

(A) b B d

© e D) ¢

(E) Question not attempted

Choose the odd one out.

.

(a) (b) (c) (d)
(A) a (B) b
©) ¢ (D) d

(E)  Question not attempted
Choose the correct mirror (M M’) image of the figure(X)

given below:
(X) M’
) >/ ()

M

Mirror

© (D)

XN IA

(E) Question not attempted
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Frferiiad & € i €T STTRf € 75 SATHA(X) hl HEt St
Bl

(x)

~[K [
o o[F

(B) ST o

TSTEIT | ShelTse ol WS fohd T warn Sirar 82 (R 8 @
e 37 ferehed )

(A) R (B) AR

(C) Heg (D) A

(E) ST e

e Mieht Iret shige e Frear o arueff 8-

(A) TSR ¥ I Hraferdl § s i arell afgerd

(B) TSR H o] ShieR sidh A=

(C) TSI o Y&l &l § &ie det

(D) TISTEA % YT&{t &5t # =] HeTtet & &9 0 Fid
TS ARt

(E) rgaid g4

aﬁmuﬁrw(zozsz@%wa@mm%m

g 2023- 24%%@aﬁqﬂnﬁwqﬁwﬁﬁmmﬁa%

(A) 1,76,240 (B) %1,50,653

(C) 1,67,964 (D) % 1,79,080

(E) ergaid g
W%Wﬂsﬁaﬁﬁwﬁﬁ@qm%ﬂ(ﬁwﬁﬁmm
[EEZRRCC))

(A) @g (B) Trsgafer

(C) ATeRET (D) IR % AT

(BE) ST a4

WA 3 AU ! IS T8V F H U8 Ug i 319 i ferar
22

(A) 31T (B) YR % 3U-Tegdf
(C) ¥Rd % q&T AEERT (D) T4 w3l

(E) rgaid o

T it riarfererr wifeh fere fafea 2t 22

(A) TRHA (B) weHHH
(C) GHFEFqgea=mmin (D) UsquA
(E) orgmid o

W%mﬁﬁaﬁﬁ%%{qﬁmﬁrﬁaﬁﬁ@ﬁqmw

FaT/aTd TE 22

(A) o8 W T A BT =R

(B) % 35 i AT T HIH 2|

(C) o8 dHe o fopelt oft T o1 ee =t BT =Ry

(D) o8 39 TS 1 ATl €T =1fe Stet 3wsht Fgfeh i s
Rl

(E) ergaid g
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Which one of the following figures is the correct water
image of the given figure(X)?

(x)

(A) ®)

© D)

(E) Question not attempted

Calcite deposits are found in which place in Rajasthan?

(Choose the most appropriate option from below)

(A) Sirohi (B) Bharatpur

(C) Dholpur (D) Alwar

(E) Question not attempted

The beneficiaries of the “Indira Gandhi Urban Credit Card

Scheme” are:

(A) Women working in corporate offices in Rajasthan

(B) Blue-collared bank employees in Rajasthan

(C) Street vendors in urban areas of Rajasthan

(D) People working as house-help in urban areas of
Rajasthan

(E) Question not attempted

According to the Economic Review (2023-24), as per the

second advance estimates, the per capita income at current

prices for the year 2023-24 is estimated to be:-

(A) %1,76,240 (B) %1,50,653

(C) T1,67,964 (D) T 1,79,080

(E)  Question not attempted

Who appoints the Prime Minister of India? (Choose the

most appropriate option from below)

(A) Parliament (B) President

(C) Lok Sabha (D) Citizens of India

(E) Question not attempted

Who administers the oath of office to the President of India

before he enters office?

(A) Speaker (B) Vice President of India

(C) Chief Justice of India (D) Prime Minister

(E) Question not attempted

In whom is the executive power of State vested?
(A) Home Minister

(B) Chief Minister

(C) Chief Justice of Supreme Court

(D) Governor

(E) Question not attempted

Which of the following is NOT an essential qualification/

condition for appointment as a Governor?

(A) He should be a citizen of India.

(B) He must have completed the age of 35 years.

(C) He must not be a member of either House of
Parliament.

(D) He should be a domicile of the state to which he is

being appointed.

(E) Question not attempted
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(A) huassey, Rewme (B) #1 . Tameoe
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(A) e (B) ®ar
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(A) oA 1 3 e 11 91 &l &

(B) oY 1 3 e 11 41 TTerd &

(C) = 1 921 & WAfeh e 11 7Teid &

(D) U 1 TTEd & TIfehe e 11 Tt &

(BE) ST a4

T fam @ o veorm 3reget/avmafd ST &7

(A) I =g fag (B) THf~ame faret

(C) T feryTz = (D) Y ATl St

(E) rgaid o

fafafed 3 & 11 a1 ama areq o 6 s ad 22 (e 3 g
e I forshed TH)

(A) T (B) W&

(C) HAE™ (D) FrEc

(E) orgaid o

ffeRaa & & # a1 we gshmes T 1 22 (e 3 9 wet
39 forhed )

(A) ZTRIHTES (B) e

(C) &IT (D) &

(BE) STdia a4

0 sh Ao &fwaT o1 foreor ST 3faa: e st Reerfa dar
L THAT & 34 el S @ (7 § & Ferdt Iwgeh foraheds <)

(A) Se giEaT (B) TR
©) wfdraf (D) St ey
(E) orgaid o
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SR feRAT STTaT 82
(A) HEMEE

(€ [

(E) rgafd g4
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(C) Teawdt

(D) = AT % T =TT

(E) 3rgafd g4

(B) wdaATdt
(D) TUTE
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Who among the following was the first Chief Secretary of
Rajasthan?

(A) Shri S.W. Shiveshkar (B) Shri K. Radhakrishnan
(C) Shri V. Narayan (D) ShriB. G. Rao

(E) Question not attempted

Which Constitutional Amendment Act facilitated the
appointment of the same person as a Governor for two or
more states?

(A) 4 (B) 6t

() sn (D) 7"

(E) Question not attempted

Given below are two statements:

Statement I: The Governor appoints only those persons as
ministers who are recommended by the Chief Minister.
Statement II: Chief Minister allocates and reshuffles the
portfolios among ministers.

In the light of the above statements, choose the most
appropriate answer from the options given below:

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct but Statement II is incorrect
(D) Statement I is incorrect but Statement II is correct
(E)  Question not attempted

Who was the first speaker of the Rajasthan Legislative
Assembly?

(A) Poonam Chand Vishnoi

(B) Ram Niwas Mirdha

(C) Ram Kishore Vyas

(D) Narottam Lal Joshi

(E) Question not attempted

Which of the following is not an organ in the human
digestive system? (Choose the most appropriate option
from below)

(A) Pharynx (B) Esophagus

(C) Rectum (D) Trachea

(E)  Question not attempted

Which of the following is NOT an infectious disease?
(Choose the most appropriate option from below)

(A) Typhoid (B) Cancer

(C) Tuberculosis (D) Cholera

(E) Question not attempted

The distribution of the biological potential of the land which
can ultimately lead to desert like condition is termed as:-
(Choose the most appropriate option from below)

(A) Climate change (B) Desertification

(C) Loss ofland (D) Biological loss

(E) Question not attempted

Which of the following terms is used to explain the
undesirable change in the physical, chemical or biological
characteristics of natural environment?

(A) Epidemics (B) Pandemic

(C) Pollution (D) Quality

(E) Question not attempted

The “State Disaster Management Authority” is headed by:-
(Choose the most appropriate option from below)

(A) Governor

(B) Chief Secretary of the State

(C) Chief Minister

(D) Chief Justice of High Court

(E)  Question not attempted
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(A) I forRRT TR TseT
(B) TR R

(C) @

(D) Ef. %.uH. =i

(E) orgaid o
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(A) HIAHT A FHATH TSE
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(C) femrem & (D) @A
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(E) rgaid o
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©
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Identify the name of the super cyclone that caused extreme
damage to West Bengal and Odisha in May, 2020.

(A) Amphan (B) Rita

(C) Katarina (D) Fani

(E) Question not attempted

The state associated with gas/chemical accident in 1984
was:-

(A) Rajasthan (B) Uttar Pradesh

(C) Madhya Pradesh (D) Uttarakhand

(E) Question not attempted

Who among the following is empowered to form a new state
by separation of territory from any state? (Choose the most
appropriate option from below)

(A) Prime Minister (B) Supreme Court

(C) Parliament (D) Chief Minister

(E) Question not attempted

The original Indian Constitution was handwritten in a
flowing italic style by:-

(A) Prem Bihari Narayan Raizada

(B) H.V.R.Iyengar

(C) B.N.Rao

(D) Dr. K.M. Munshi

(E) Question not attempted

Who was the first President of India?

(A) Maulana Abul Kalam Azad

(B) Dr. Rajendra Prasad

(C) Dr. Bhimrao Ambedkar

(D) Sardar Vallabh Bhai Patel

(E) Question not attempted

The Constituent Assembly held its first session meeting on:-
(A) November9, 1946  (B) December 19, 1946

(C) December 9, 1946 (D) November 19, 1946

(E) Question not attempted

Would the action in good faith provision be applicable if a
PIO unknowingly declares exempted information? (Choose
the most appropriate option from below)

(A) Yes, it applies to any action of any official under the
‘RTI Act’ or any rule there under.

(B)
©

No, it will not be applicable.

Protection of the “action in good faith” is not
applicable to a PIO at all.

(D)

No, it only applies to refusal to give in information
under the ‘RTI Act, 2005.°

(E)  Question not attempted

The Aravalli mountain range is a part of which of the
following landmasses? (Choose the most appropriate option
from below)

(A) Angaraland (B) Gondwana land

(C) Himalayan region (D) Purvanchals

(E) Question not attempted

Which one of the following acts as a water divide in
Rajasthan? (Choose the most appropriate option from
below)

(A) Himalayas (B) Western Ghats

(C) Aravalli (D) Eastern Ghats

(E)  Question not attempted
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Which of the following statements is NOT correct about

laterite soil in Rajasthan?

(A) Itis formed by the crystalline and metamorphic rocks.

(B) This soil contains enough quantity of nitrogen,
phosphorus and humus.

(C) Tt looks red due to the presence of Iron.

(D) This soil is found in Dungarpur, central and southern

part of Udaipur.

(E) Question not attempted

Which one of the following trees is known as the

‘Kalpvriksha of Thar’?

(A) Date Palm (B) Babool

(C) Neem (D) Khejadi

(E)  Question not attempted

Which of the following is the highest peak of Rajasthan?

(A) Dilwara (B) Mount Abu

(C) Guru Shikhar (D) Taragarh

(E) Question not attempted

The largest inland salt water lake of India is in Rajasthan.

Which one of the following is it?

(A) Sambhar (B) Didwana

(C) Lunkaransar (D) Pachpadra

(E) Question not attempted

According to the 2011 census, which district in Rajasthan is

the most literate?

(A) Jalore (B) Kota

(C) Jhunjhunu (D) Sikar

(E) Question not attempted

Under which project was the National Highway No.-8

upgraded to 6 lanes from Jaipur to Ajmer?

(A) North South Corridor (B) East West Corridor

(C) Golden Quadrilateral (D) State Highway

(E) Question not attempted

In 2023-24, the number of working days guaranteed under

the “Indira Gandhi Shahari Rojgar Guarantee Scheme”

were increased to: (Choose the most appropriate option

from below)

(A) 110 working days (B)

(C) 140 working days (D)

(E) Question not attempted

Which of the following breeds of cow is known as the

“Kamdhenu of Rajasthan”?

(A) Tharparkar (B) Rathi

(C) Nagori (D) Malawi

(E) Question not attempted

Which of'the following is an initiative taken by the Rajasthan

Agriculture Department for women farmers’ empowerment?

1. Provision of training for women farmers for
dissemination of agricultural technology to fellow
women farmers.

2. Incentive to girls pursuing agricultural education.

125 working days
160 working days

3. Distribution of seed mini-kits to women farmers on
price.
4, Provision of tractors to all women farmers in each

Gram Panchayat of Rajasthan.
Choose the most appropriate option from below:
(A) Both 1 and 2 are correct.
(B) All L, 2,3 and 4 are correct.
(C) Both 3 and 4 are correct.
(D) Both 1 and 4 are correct.
(E) Question not attempted
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Which of the following is a premier institute which imparts
training and undertakes research on rural development in
India?

(A)
(B)
©
(D)

National Rural Development Organisation
National Rural Institute

Rural Institute of Development
Institute of Rural
Panchayati Raj

Question not attempted

National Development and

(B)

Find the next term in the given series:
BZM, DXN, FVO, HTP, ?

(A) JRP (B)
(© JQs (D)
(E) Question not attempted

JRQ
RIQ

Choose the ‘odd’ one out:

QT, LO, SP, CF

(A) QT (B) LO

(© sp (D) CF

(E) Question not attempted

Amongst the following pair of words, find the one which is
different from the others:

(A) Cow-Milk (B) Hen-Egg

(C) Sheep-Wool (D) Bird-Fly

(E)  Question not attempted

The numbers given below are alike in a certain manner
except one. Choose the odd one out.

(A) 57 (B) 114

(C) 108 (D) 133

(E)  Question not attempted

Find the pair which is different from the other three.
(A) Camel-Tall (B) Turtle-Fast

(C) Tiger-Carnivore (D) Bird-Chirp

(E)  Question not attempted

The words given below are alike in some manner except
one, spot the odd one out.

(A) Banana (B) Fig

(C) Peach (D) Potato

(E) Question not attempted

If in a certain code language, ‘PENTAGON” is written as
‘DQSOFBMP’ and ‘BOUTIQUE’ is written as
‘NCSVPIDV’, how would ‘BEAUTIFY’ be written in the
same code language?

(A) CDTBUHXG (B) DCBTHUGX

(C) DCTBHUXG (D) CDTBHUXY

(E) Question not attempted

If in a code language ‘PRISON’ is written as ‘RPKQQL’,
then how would ‘CRACKS’ be written in the same code

language?
(A) ATYEIU (B) EPCASK
(C) EPCAMQ (D) EPACQM
(E) Question not attempted
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In a certain code language, ‘ARGENTINA’ is written as
‘By#21$=!B°, how would ‘ENGINE’ be written in that
code language?

(A) 1?7#=?! (B)
(©C) ?21=#1? (D)
(E) Question not attempted

If ‘AMPLE’ is coded as ‘47’ and ‘SAMPLE’ is coded as
‘66’, then how will ‘AMPLIFY’ be coded?

(A) 113 B) 75

(C) 83 (D) 82

(E) Question not attempted

If ‘RIPE’ is coded as 8295, ‘NATO’ is coded as 6347 and
‘PANTHER’ is coded as 9364158, what will be the code for
‘PRINTER’?

(A) 9826458 (B) 8926458

(C) 8924685 (D) 9846285

(E) Question not attempted

2#=1?
#19=14

Introducing a woman to his wife, Raj said, ‘Her mother is
the wife of my mother’s father’. What is the relation of Raj
with the woman’s father?

(A) Cousin (Paternal) (B) Grandson (Maternal)
(C) Son (D) Nephew

(E) Question not attempted

Surendra said to Ajay, “That girl playing badminton is the

grand-daughter of my mother’s father-in-law who had only
one son and no daughter.” How is the girl related to

Surendra?
(A) Sister (B) Daughter
(C) Niece (D) Wife

(E) Question not attempted

After the enactment of the ‘RTI Act, 2005°, what is the
status of the ‘Freedom of Information Act, 2002’? (Choose
the most appropriate option from below)

(A) Tt has been repealed.

(B) It will become operative as soon as the Central
Government makes rules under it.

The Central Government has advised the State
Government to implement it.

It exists and to the extent the ‘RTI Act, 2005
contradicts, it will supersede the latter.

Question not attempted

©
(D)

(E)
Which provision of the RTI Act explains about transfer of
applications?

(A) Section 5(3) (B) Section 6(3)

(C) Section 7(5) (D) Section 8(1)

(E) Question not attempted

The Right to Information Act, 2005 was enacted on:-
(A) 22 June 2005 (B) 22 July 2005

(C) 2 October 2005 (D) 15 June 2005

(E) Question not attempted

Which of the following folk deities is worshipped as
“Ramsa-Pir” by the muslims?

(A) Gogaji (B) Mallinathji

(C) Ramdevji (D) Devnarayanji

(E) Question not attempted
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Name the Khyal which is a beautiful fusion of contemporary
news, poetry, music, songs and dance.

(A) Hela Khyal (B) Jaipuri Khyal

(C) Kanhaiya Khyal (D) Shekhawati Khyal

(E) Question not attempted

Name the famous ‘Swaang’ artist who has represented
Rajasthan in Bharat Utsav ?

(A) Janki Lal Bhand (B) Lachhiram

(C) Mangilal Mistri (D) Gopi Kishan Bhatt

(E) Question not attempted

Shrilal Joshi, a phad artist belongs to :

(A) Sikar (B) Jaipur

(C) Churu (D) Bhilwara

(E) Question not attempted

Who among the following wrote the ‘Vamsha Bhaskar’, a
four volume history?

(A) Suryamal Mishran

(B) Kaviraj Shyamaldas

(C) Gobind Gangadhar Pandey

(D) Dashora Durlabh Ram

(E) Question not attempted

Name the author of ‘Annals and Antiquities of Rajasthan’.
(A) Col. James Tod (B) James Skinner

(C) James Prinsep (D) Alexander Cunningham
(E)  Question not attempted

Which temple is situated at the foothills in Rewasa village
of Sikar?

(A) Diggi Kalyanji (B) Jeenmata

(C) Kaila Devi (D) Khatu Shyamji

(E) Question not attempted

Below is a statement followed by two assumptions. Based
only on the statement, decide which of the assumptions is/
are implicit in the statement.

Statement: When people ask who painted your home, you
know that your home is excellently painted.

Assumptions:
L. People want you to tell them the criteria for excellent
painting.

II.  People do not ask about your painter if the painting of
your home is not good.

Only I is implicit

Only II is implicit

Both I and II are implicit

(D) Neither I nor II is implicit

(E)  Question not attempted

In the question given below, a statement is followed by two
assumptions numbered I and II. Based on the statement and
following assumptions, decide which of the assumptions is/
are implicit.

Statement: A bus agency has decided to increase the
passenger fare by 10% after the board meeting.
Assumptions:

L The demand for the seats will fall drastically.

II.  Other bus agencies will also hike their fares.

(A) Only I is implicit

(B) Only II is implicit

(C) BothIand II are implicit

(D) Neither I nor II is implicit

(E)  Question not attempted

(A)
(B)
©
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Below is a statement followed by two assumptions. Based
only on the statement, decide which of the assumptions is/
are implicit in the statement.

Statement: I cannot use internet at location X.

Assumptions:
L. Internet facility is not available at
location X.

II.  These days the internet is not working properly.
(A) Only I is implicit

(B) Only II is implicit

(C) BothI and II are implicit

(D) Neither I nor II is implicit

(E) Question not attempted

Given below is one statement followed by two arguments I

and II. You have to decide whether a particular argument is

strong or not.

Statement: Should every girl have self-defence training?

Arguments:

L. No. They will turn masculine.

II.  Yes. It would give them the confidence to counter
their perpetrators effectively.

(A)

(B)

©

(D)

(E)

Given below is one statement followed by two arguments |

and II. You have to decide whether a particular argument is

strong or not.

Statement: Should the ban on poaching tigers be lifted?

Arguments:

L Yes. The poachers are losing their livelihood.

II.  Yes. The tigers are dangerous animals and could be a
threat to humans.

Only argument I is strong
Only argument II is strong
Both I and II are strong
Neither I nor Il is strong
Question not attempted

(A)
(B)
©
(D)
(E)
You are given a statement followed by two arguments I and
II. Decide whether a particular argument is strong or not.
Statement: Should the captain of the football team be
replaced by a experienced player for the upcoming world
cup series due in three years?
Arguments:
L. Yes. The current captain is nearing retirement and a
new captain needs to be nurtured for future.
II.  Yes. The current captain has a partisan attitude in the
team selection procedure.

Only argument I is strong
Only argument II is strong
Both I and II are strong
Neither I nor II is strong
Question not attempted

(A)
(B)
©
(D)
(E)

Only argument I is strong
Only argument II is strong
Both I and II are strong
Neither I nor II is strong
Question not attempted
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In the following question, there are two statements (a) and
(b) followed by two conclusions I and II. You have to
consider the statements to be true even if they seem to be at
variance from commonly known facts. You have to decide
which of the given conclusions, if any, follow from the
given statements.

Statement:

a. All who are punctual, succeed in life.

b.  Sheetal has always respected time.

Conclusions:

L. Sheetal is a successful person.

II.  Sheetal is an entrepreneur.

(A)
(B)
©
(D)
(E)

In the question given below, there is a statement followed

Only conclusion I follows
Only conclusion II follows
Either I or II follows
Both I and II follow

Question not attempted

by two conclusions I and II. Assume everything in the

statement to be true, then decide which of the conclusions

follow the statement beyond reasonable doubt.

Statement: The Chief Minister of a state asked three of his

ministers to either submit their resignations by the evening

or face disciplinary action. Two of them resigned

immediately.

Conclusions:

L The remaining one would resign by the evening.

II. The Chief Minister will take disciplinary action
against him.

(A)

(B)

©

(D)

(E)

In this question, a statement is followed by a set of

Only conclusion I follows
Only conclusion IT follows
Either I or IT follows

Both I and II follow
Question not attempted

conclusions. Carefully assess which of the conclusion(s)

logically follow(s) from the statement and choose the

correct option.

Statement: Kriti learns dance from the Hindustani Dance

Academy. She is a well mannered girl.

Conclusions:

I. Besides the fact that she learns dance, another trait of
Kriti is her nice behaviour with everyone.

II.  People who learn dance are bound to be well behaved.

(A) BothIand II follow

(B) Only I follows

(C) Neither I nor II follows

(D) Only II follows

(E)  Question not attempted
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In the question given below, there is a statement followed
by three courses of action I, IT and III. Assuming everything
given in the statement as true, decide which of the suggested
course of action logically follow(s).

Statement: There is a significant increase in lung related
ailments in the city due to severe smog.

Courses of Action:

L. Public must be encouraged to use public transport.

II.  Hospitals should be informed about the situation and
asked to remain prepared to handle large inflow of
patients.

A delegation of health officials should visit the
President of the country to intimate about the situation.
Only I and II follow (B) Only I and III follow
Only II and III follow (D) Only II follows
Question not attempted

III.

(A)

©

(E)

In the question given below, there is a statement followed

by two courses of action I and II. Assuming the information

given in the statement as true, decide which of the suggested
course(s) of action logically follow(s).

Statement: If the retired senior police officers are invited to

deliberate on security arrangements during the convocation

ceremony of a very reputed university, it would really be of
great help.

Courses of Action:

L The management should seek permission of the
professors of the university before calling retired
police personnels.

II. The proctoral team should involve experienced

people in beefing up the security of the university.

Only I follows (B) Only II follows

(C) Either I orII follows (D) BothIand II follow

(E)  Question not attempted

Which of the following figures will complete the pattern in

figure(X)?

(A)

(X)

(A) (B)

© (D)

(E) Question not attempted
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In which stadium of India was the statue of the great cricket
player Sachin Tendulkar unveiled?

(A) Eden Garden (B) Wankhede Stadium

(C) Arun Jaitley Stadium (D) Narendra Modi Stadium
(E)  Question not attempted

Where was the Rising Rajasthan Global Investment
Summit-2024 organised? (Choose the most appropriate
option from below)

(A) Jodhpur (B) Udaipur

(C) Jaisalmer (D) Jaipur

(E) Question not attempted

“ Gagan Shakti-2024 ” exercise was conducted by the
Indian Air Force at which place of Rajasthan?

(A) Jodhpur (B) Pokhran

(C) Alwar (D) Barmer

(E) Question not attempted

Who among the following is the only Indian skipper, men or
women, to have led India to two world cup cricket finals in
2005 and 2017?

(A) Yuvraj Singh (B) M. S. Dhoni

(C) Mithali Raj (D) Harmanpreet Kaur

(E)  Question not attempted

Which scheme was launched by Ministry of Women and
Child Development to promote gender equality and increase
sex ratio?

(A) Mission Indradhanush

(B) Beti Bachao Beti Padhao Yojana

(C) Pradhan Mantri Garib Kalyan Yojana

(D) PM Shree Yojana

(E) Question not attempted

During the burning of a candle:-

(A) Only physical change occurs

(B) Only chemical change occurs

(C) Neither physical nor chemical change occurs
(D) Both physical and chemical changes occur
(E)  Question not attempted

The elements which tend to form anions by gaining electrons
are known as:-

(A) Metals (B) Non-metals

(C) Malleable elements (D) Ductile elements

(E)  Question not attempted

Which of the following is an example of amphoteric oxide?
(A) CO, (B) SiO,

(C) CrO4 (D) PbO

(E) Question not attempted

If the position of an object is at infinity, its image formed by
a convex mirror will be:-

(A) At the focus behind the mirror

(B) At the pole of the mirror

(C) At infinity

(D) Between the pole and the focus of the mirror

(E) Question not attempted

The character which does not express itself in F, generation
is called:-

(A) Allelomorph (B) Recessive character

(C) Dominant character (D) Genotype

(E) Question not attempted

[ Contd...
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(A) eIt | SFTET T &

(B) éﬁanwwm%

(©) meﬁmnmw%

(D) Iaﬁrnzﬁ:ﬁwmemﬁ%

(BE) STgdia g4
a%n‘%a@wﬁwqaaﬁﬁﬁq
289,262, 235, 2, 181, 154, 127

(A) 200 (B) 207
(C) 201 (D) 208
(E) rgmid o
ﬁﬁmﬁwwmﬁﬁq
7,14, 2,56, 112, 224

(A) 28 (B) 29
©) 31 (D) 35
(E) rgaidgd
a%n‘s‘a@wﬁnmqaaﬁ?ﬁﬁ?}:
11,22, 44, 88, 110, 352

(A) 44 (B) 352
(©) 110 (D) 88
(E) rgmied o
a@wﬁmqamaﬁﬁ%

12, 12, 18, 36, 90, ?

(A) 280 (B) 270
(C) 290 (D) 300
(E) g o
aﬁmﬁmwaﬁaﬁﬁq
1,4,9,16,25,36,

(A) 64 (B) 49
(C) 8l (D) 48
(E) rgaid g

Wﬁﬁﬁmmﬂnﬁmﬁwﬁrmmw

Z, XW, TSR, NMLK, ?

(A) EDCBA (B) BCEDF
(C) EFDCB (D) FEDCB
(E) ST g4
98 mﬁmwwaﬁﬁq
MFSV, OJYD, 2, SRKT, UVQB
(A) QNDL (B) POCL
(C) QNEL (D) QMFO
(E) g o
99 mﬁmqamaﬁﬁ%
PH, ME, IB, GY, ?
(A) DV (B) CV
(C) DW (D) AZ
(E) orgmaid o
100 anéa@wﬁaqﬁwmm%@
BEAUTIFUL, BEAUTIFU, EAUTIFU, EAUTIF, ?
(A) AUTIF (B) UTAIF
(C) EAUTI (D) TAFIU
(E) ergaid g
AAS1] #
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99

100

In the question given below, there is a statement followed

by two courses of action I and II. Assuming everything

given in the statement as true, decide which of the suggested

course (s) of action logically follow(s).

Statement: There was a significant rise in head injury

related deaths among two wheeler riders.

Courses of Action:

L The traffic police should impose hefty fines for not
wearing helmet while riding two wheeler.

II.  Two wheelers should be banned on main roads.

(A) Only I follows (B) Only II follows

(C) Either I or Il follows (D) BothIand II follow

(E) Question not attempted

Find the missing term in the given series:

289, 262, 235, 2, 181, 154, 127

(A) 200 (B) 207

(C) 201 (D) 208

(E) Question not attempted

Find the missing term in the given series:

7,14,7,56, 112,224

(A) 28 B) 29

(© 31 (D) 35

(E) Question not attempted

Find the wrong term in the given series:

11,22, 44,88, 110,352

(A) 44 (B) 352
(C) 110 (D) 88
(E) Question not attempted

Find the next term in the series:

12, 12, 18, 36, 90, ?

(A) 280 (B) 270
(C) 290 (D) 300

(E)  Question not attempted
Find the next term in the given series:

1,4,9,16,25,36,
(A) 64 (B) 49
(C) 8l (D) 48

(E)  Question not attempted

Which of the following term follows the trend in the given
series?

Z, XW, TSR, NMLK, ?

(A) EDCBA (B) BCEDF

(C) EFDCB (D) FEDCB

(E)  Question not attempted

Find the missing term in the series:

MFSV, 0OJYD, ?, SRKT, UVQB

(A) QNDL (B) POCL
(C) QNEL (D) QMFO
(E) Question not attempted

Find the next term in the series:

PH, ME, JB, GY, ?

(A) DV (B) CV
(C) DW (D) Az

(E) Question not attempted

What should come next in the given series?
BEAUTIFUL, BEAUTIFU, EAUTIFU, EAUTIF, ?
(A) AUTIF (B) UTAIF

(C) EAUTI (D) TAFIU

(E) Question not attempted
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